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INSTRUCTIONS TG CANDIDATES

1. This question paper consists of 5 printed pages, including the cover page,
2. Do aot turm this page until you are told to do so.

3. Follow a1l instructions carefitlly.

4. Shade vour answers on the Optical Answer Sheet (0AS) provided.




Section A {10 x 2 marks each)
For each of the following questions, four options are given. Choose the correct opfion
and shade its oval (1, 2, 3 or 4} in the Optical Answer Sheet provided.

1. Inthe number 3 285, the value of the digit 2 18 __

{1y 2 ones

{2y 21iens

(3) 2 hundreds
(d) 2 thousands

2. Divide 455 by 7.

(1Y 55
2y 65

3 3156
4y 3185

3. Mother bought a watermelon and a honeydew. The watermelon costs $7.50, The
honeydew costs $2 less than the watemmelon. How much did Mother pay in all?

(1} $5.50
(2) $9.50
(3  $12.00
@  $13.00

4. A movie ended at 3.35 p.m., It lasted 1 h 50 min. What time did the movie start?

(1Y  1.45p.m.

2y 215pm.
(3y 245p.m.
4 525pm.



5 20m5coms= oL

(1y 205
(2y 250

(3} 2005
(4) 2050

5. Arrange the following fractions from the smallest to the largest.

s 2
4,6,2
o $14
RS

7. How many pairs of parallel fines are there In the figure below?
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The bar graph below shows the number of erasers cofiecied by 4 boys.

Study the graph and use it to answer question 8.

Andrew Eob Charlas Douglasz

Boys

How many more erasers did Charles collect than Bob”

(1) 20
@) 30
@ 40
4) 60

Which of the following figures does not have any right angles?

1 A
2) B
@ cC
@ D



10. The figures below ars not drawn to scalé. Which of the 2 figures balow have the
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SECTION B - Short Answers {38 Marks)

Ciuestions 11 1o 20 carry 1 mark each. Questions 21 to 34 carry 2 marks each. Show all
workings clearly, Write your answer in the space provided. Give your answers in the
units stated and in its simplest form wienever possible

14, Whalt fraction of the figure is shaded?

Answer ;
12. Express % in its simplest form.
Answer :
13. Complete the following number pattern.
475, 525, 8256, L9765, 1225, 1 525, 1 875
Answer




The bar graph below shows the sales of beach balls in a toy shop.
Study the graph carefully and use it to answer questions 14 and 15.
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Sales of beach balls

i4.  Inwhich menth did the toy shop sell the least number of beach ballg?

Answer :

15, What is the total number of baach halls sold in the months of October, Novembaer
and Decamber?

Answer ;




18, What is the smallest 2-digit number that can be divided by both 3 and 47

Answer: ___

17. The figuse below is not drawn to scale. Find its area.

icm

1 cmi

Answer _ o

18, Mow many angles inside the figure are greater than a right angle?

Answer .




19, The capacily of 2 pail is 18 L ltis 7 I less than the capacity of a tank.
What is the capacily of the tank?

Answer ;

26. Find the value of % +

Answer ;

21, Audrey had 1 082 roses, 246 of the roses are red while the rest are pink. Kelly
gave Audrey ancther 429 pink roses. How many pink roses did Audrey have
altogether now?

Answer .

o



22. Arope 510 mlong is cut nto bwo pieves, One piace is 5 times as long as the other
piece. What is the length of the longer piece of rope?

Answer _ m

23. Lity has $720 more than Felix. She gives Felix $135. How much more money
does she have than Falix now?

Answer : §
24, What is the missing number in the box?
2 2]
8 12
Answer




25, Find the difference between E and % Give your answer in its simplest form

Angwer |

26, A worker lakes 20 minutes to wash 3 car. He washed 3 cars without {aking a
break. If the worker stans al 8.15 a.m., what time will he finizh washing all the
cars?

Answer: - a.m.

27. 10 poles are placed i a straight row at an equal distance apart. The distance
betwoen 2 poles is 55 mi_ What is the distance batween the first and the fast pole?

Llb et

Answer : . .m



o8.  Find the sum of all the odd numbers listad below.

""*a..__ »”“‘ /’ T

{l/ " ‘*-. _. -.?

L.\ 5072 j'\ 097 :}18 634 ,a\ 625

Y PR ‘ / \ / {
Answer; e

29. Jack wants to buy a pair of shoes that costs $87.30. He has $42.60. How much
more money does he need to buy the palr of shoes?

Answer : §

30. John had 1 radio and 3 similar laptops. The mass of the radio is 2 kg more than
the mass of each laptop. The total mass of the radio and fapteps is 34 kg. What is
the mass of each laptep?

Answer : V kg




31. The figure below shows a ling YZ and point X. Draw a line parallel to YZ that
passes through point X.

32. Identify 2 pairs of perpendicutar lines in the diagram below.
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33. The lengih of a rectangular piece of paper is 8 om. If the breadth of the paper is
3 om shorter than its length, what is the ares of the piace of paper?

8 om

F:%
ki

O PO %

Answer o cm

34. The figure befow is not drawn to seale. If is made up of 4 identical squares. Each
side of the square is 7 cim. Find the perimeter of the figure.

I?cm

Answer ) cm

10



SECTION C - Problem Sums {22 Marks)

Questions 35 o 36 carry 3 marks each. Questions 37 to 40 carry 4 marks each. Show
your working and mathematical stalemenis clearly in the space below each question.
Write your answer in ihe answer space provided. Express your answers in the units
stated and in its simplest form whanever possibie.

38, Kim Wees had $120. He bought a calkuiator and a book. The calculaior cost
$34.50. If he had $684.70 laft, how much did the book ¢cosl?

Answer, 133

36. Matthew poured 4 bottles of milk into a container. The capacity of gach bottie is
350 mi. He needed another 200 m¢ more milk to completely fill the container, Find
the capacity of the container.

Answer: o [3]

11 -



3?’ Joshua took 5 3 hours 20 minates frain ride from Tovn X o Town Y,
The train departed at 11.55 a.m.

a} What time did Joshua arrive in Town Y7
b} Joshua planned to reach the train station 44 minutes before the train’s

departure time. He needed 30 minutes to travel from his house 10 the frain
station. What is the latest time Joshua must leave his house?

Answer: (a)

(b}

12

(1)

(31



38. Ben, Ccdy and Dan have 2 total of 710 marbles. Ben gets 45 more marbles than
Cody and {Jan gets 173 more marbles than Ben How many marbles does Cody
have? :

Answer. - [ 4]

13



38, The figure below, not drawn to scalz, is made up of 3 squares. The length of AB is
10 cmy and the length of FG s 2 om. The length of FG s 4 om less than the length
of CD. Find the total area of the figure,

10 om
A -1 B
c D
k. F
—}1213:11
H e
Answer. 41}

14



40,

For every 2 blus beads Joel strings, k& strings 5 yeliow beads. Josl strings a total
of 4% blue and yellow beads inio a necklace. How many morz yvellow beads than
blue beads dogs he string? (You may make a fist )

Answer: [ 4]

End-of-Paper
i5°
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34.70

35.8120-$34.50 = $85.50
$85.50 - 564.70 = $20.80
Answer: 520.80

36.4%x350=1400
1400+200=1600
Answer: 1600ml

37. a)
3hrs
20min

1 | e
I l 1
11.55am 12.15pm 3.t5pm
Town X Town Y

b) Time he planned to reach station: 11.55am ~45min = 11.10am

Time he has to leave house: 11.10am —30min = 10.40am
Answer: a) 3.15pm
b) 10.40am

38. 45+45+173= 260
710-263= 447
447+-3= 149

Answer: 149

39, 10x10=100
4x4= 16
6%6= 36
36+16+100= 140
Answer: 140cm?



40.

Number of blue beads | Number of yellow beads | Total number of beads
2 5 7
4 10 ' 14
6 15 21
8 20 28
10 25 35
12 30 42
14 35 49
35~ 14=21

Answer: 21
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